Quiz #2

Student: ___________________________________________________________________________

1. An industry experiencing constant returns to scale and fixed factor prices will have a long run supply curve that is: 
 
A. vertical.
B. horizontal.
C. upward sloping.
D. downward sloping.

 

2. The long-run supply curve for a competitive, decreasing-cost industry is downward sloping. 
 
True    False

 

3. Which is a feature of a purely competitive market? 
 
A. price differences between firms producing the same product
B. significant barriers to entry into the industry
C. the industry's demand curve is perfectly elastic
D. products are standardized or homogeneous

 

4. There is no control over price by firms in: 
 
A. oligopoly.
B. pure monopoly.
C. pure competition.
D. monopolistic competition.

 

5. Competitive firms are assumed to: 
 
A. advertise.
B. be price takers.
C. sell where marginal cost is minimized.
D. confront demand curves that are perfectly inelastic.

 

6. The market model with the largest number of firms is: 
 
A. oligopoly.
B. pure monopoly.
C. pure competition.
D. monopolistic competition.

 

7. An industry experiencing increasing returns to scale and fixed factor prices will have a long-run supply curve that is: 
 
A. vertical.
B. horizontal.
C. upward sloping.
D. downward sloping.
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8. Refer to the above graph. This pure competitive firm will not produce unless price equals at least: 
 
A. $2.
B. $5.
C. $7.
D. $10.

 

9. A firm should increase the quantity of output as long as its: 
 
A. marginal revenue is greater than its marginal cost.
B. marginal cost is greater than its marginal revenue.
C. average revenue is greater than its average total cost.
D. average revenue is greater than its average variable cost.
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10. Refer to the above graph. To maximize profits, this firm would produce: 
 
A. 0D units, which will result in a loss equal to ABGH.
B. 0E units, which will result in a loss equal to ALFH.
C. 0D units, which will result in economic profits equal to BCFG.
D. 0E units, which will result in economic profits equal to ABGH.

 

11. A monopolist can sell 10 units at $12 per unit and 9 units at $13 per unit. The marginal revenue from the 10th unit is: 
 
A. $1.
B. $3.
C. $12.
D. $120.
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12. Refer to the above cost and demand data for a pure monopolist. In equilibrium the firm will produce: 
 
A. Q1 and charge price P2.
B. Q2 and charge price P1.
C. Q2 and charge price P3.
D. Q3 and charge price P2.

 

13. One feature of pure monopoly is that the monopolist is: 
 
A. a producer of products with close substitutes.
B. one of several producers of a product.
C. a price taker.
D. a price maker.

 

14. Refer to the above cost and demand data for a pure monopolist. In equilibrium the firm will realize a per unit: 
 
A. profit of P1P3.
B. profit of P1P4.
C. loss of P3P4.
D. loss of P1P2.
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15. Which of the above shows the correct relationship between demand and marginal revenue? 
 
A. A
B. B
C. C
D. D

 

16. Which is most likely to be a natural monopoly? 
 
A. aircraft manufacturing
B. auto production
C. electrical utilities
D. steel companies

 

17. Which is a barrier to entry? 
 
A. close substitutes
B. diseconomies of scale
C. government licensing
D. price-taking behavior

 

18. Other things equal, which reduces competition in an industry? 
 
A. patent laws
B. freedom of entry for new firms
C. an increase in the number of producers
D. an increase in the number of buyers

 

19. In many large U.S. cities, taxicabs operate as near monopolies because of: 
 
A. patents.
B. licenses.
C. economies of scale.
D. control of essential resources.

 

20. Assuming no economies of scale and identical costs, if the firms in a purely competitive industry were replaced by a profit-maximizing monopolist, the likely result would be a(n): 
 
A. increase in both price and output.
B. unchanged price and reduced output.
C. increase in price and unchanged output.
D. increase in price and reduced output.

 

21. The market model that would characterize the production of most agricultural products would be: 
 
A. monopolistic competition.
B. pure competition.
C. pure monopoly.
D. oligopoly.

 

22. Because monopolistically competitive firms cannot earn long-run economic profits, they do not have any degree of monopoly power. 
 
True    False

 

23. In which industry is monopolistic competition most likely to be found? 
 
A. utilities
B. agriculture
C. retail trade
D. mining

 

24. What is a positive effect of advertising? 
 
A. It reduces economic efficiency in the economy.
B. It promotes economic concentration in industry.
C. It is designed to persuade rather than inform consumers.
D. It provides information for reducing search costs.

 

25. A characteristic of monopolistically competitive industries is that: 
 
A. there is product differentiation but only limited advertising of products by the representative firm.
B. the entry and exit of firms causes the representative firm to break even in the long run.
C. the representative firm is not very responsive to changes in consumer demand.
D. the representative firm produces at that level of output where marginal cost equals minimum average total cost.

 

26. The primary copper industry in the United States would be an example of a: 
 
A. duopoly.
B. noncollusive oligopoly.
C. homogeneous oligopoly.
D. differentiated oligopoly.

 

27. Which would be most characteristic of oligopoly? 
 
A. easy entry into the industry
B. many large producers
C. product standardization
D. mutual interdependence

 

28. If monopolistically competitive firms in an industry are making an economic profit, then: 
 
A. new firms will enter the industry and product demand will increase for the existing firms.
B. firms will exit the industry and product demand will decrease for the firms that remain.
C. firms will exit the industry and product demand will increase for the firms that remain.
D. new firms will enter the industry and product demand will decrease for the existing firms.

 

29. What is a potential negative effect of advertising? 
 
A. It provides important information to consumers.
B. It promotes monopoly power in industry.
C. It contributes to allocative and productive efficiency.
D. It lowers search costs in product purchases.

 

30. The kinked demand curve is based upon the assumption that an oligopolist's rivals will: 
 
A. ignore a price cut, but follow a price increase.
B. follow both a price cut and a price increase.
C. ignore both a price cut and a price increase.
D. follow a price cut, but ignore a price increase.

 

31. Wage differentials occur for all the following reasons except: 
 
A. homogeneous workers.
B. labor market imperfections.
C. noncompeting groups of workers.
D. compensating differences to offset nonmonetary differences in jobs.

 

32. The demand for a resource will increase if the: 
 
A. price of the resource increases.
B. quantity of the resource decreases.
C. price of the product the firm is producing increases.
D. price of the product the firm is producing decreases.

 

33. If capital and labor are used in rigidly fixed proportions and the price of capital falls, it can be concluded that: 
 
A. the substitution and output effects will work in opposite directions so no judgment can be made as to the effect on labor demand.
B. labor demand will tend to increase.
C. the elasticity of demand for both labor and capital will increase.
D. labor demand will necessarily decline.

 

34. The marginal cost of a productive resource is equal to the price of the resource if a firm is: 
 
A. a price taker in the output market.
B. a price taker in the resource market.
C. able to influence the price of the product by producing more or less of it.
D. able to influence the price of the factor by buying more or less of it.

 

35. Which is characteristic of monopsony? 
 
A. The type of labor employed is relatively mobile.
B. The supply curve for labor lies above the marginal resource cost curve.
C. The wage rate it must pay workers varies directly with the number of workers it employs.
D. The firm's employment is a small portion of the total employment of that type of labor.

 

36. The elasticity of demand for labor varies inversely with the elasticity of demand for the product it is used to produce. 
 
True    False

 

37. Other things being equal, which would tend to increase the mobility of labor? 
 
A. an increase in job information services
B. fewer opportunities for job training
C. an increase in discrimination at work
D. increased licensing requirements by occupational groups

 

38. In a purely competitive resource market, a firm that hires labor is a: 
 
A. "price maker."
B. "wage taker."
C. "money maker."
D. "product taker."

 

39. The best example of a craft union would be the: 
 
A. United Auto Workers.
B. United Steelworkers.
C. Teamsters.
D. International Brotherhood of Electrical Workers.

 

40. The best example of an industrial union is the: 
 
A. United Association of Plumbers and Pipefitters.
B. International Brotherhood of Electrical Workers.
C. American Medical Association.
D. United Auto Workers.
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41. Refer to the above graph. A nation that has an income distribution of perfect equality would be represented by the above curve: 
 
A. a.
B. b.
C. c.
D. d.

 

42. A major criticism of the welfare system that led to recent reforms is that welfare payments: 
 
A. encourage overuse of the medical system.
B. create dependency on government programs.
C. give strong incentives for people to change jobs.
D. fail to provide a minimum income for young children.

 

43. What form of aid is used for Medicaid? 
 
A. cash
B. charity
C. vouchers
D. subsidized services

 

44. The Lorenz curve is a graph that shows the: 
 
A. distribution of wealth.
B. degree of income inequality.
C. effect of discrimination on incomes.
D. tradeoff between equality and efficiency.

 

45. When taxes and transfer payments are taken into account, the distribution of income in the United States: 
 
A. is unchanged.
B. is less equally distributed.
C. is more equally distributed.
D. becomes more beneficial for the wealthy.

 

46. One of the major causes of income inequality is differences in: 
 
A. unemployment benefits.
B. transportation.
C. education.
D. housing.

 

47. Which would be a significant cause of income inequality in the United States? 
 
A. housing
B. discrimination
C. in-kind transfers
D. social security

 

48. The poverty rate in 2000 was: 
 
A. higher than previous years in the decade.
B. lower than previous years in the decade.
C. the same as previous years in the decade.
D. the same as it was in 1959.
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49. Refer to the above table. What percentage of families made $75,000-$99,000? 
 
A. 11
B. 13
C. 16
D. 85

 

50. What would be an example of how pure luck contributes to income inequality? 
 
A. approval to receive unemployment benefits
B. receipt of a government grant for housing
C. selection as winner of a state lottery
D. admission to a state university

